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1.When you get respiratory diseases, certain symptoms including sneezing, nasal  and
runny nose, are common.
(A) congestion (B)injection (O)projection

2. Recently, because of urban development, more and more houses are
for the shopping center.

61 E~T2 - &2 24%

(D)reflection
to make way

(A)accused (B)witnessed (C)demolished (D)dominated
3. Rumor has it that MM keeps a boyfriend except for an official one.

(A)scent (B)clue (C)session (D)spare
4. The government ___ a travel warning to the public about the area because of its unstable

political conflict.

(A)issued (B)submerged (C)concluded (D)transported
5. Stories about pirates of ten include a search for buried

(A)reputation (B)treasure (C)profit (D)request

6. In modern society, one’s value is often decided by one’s social
marriage condition, job and family background.

, including one’s

(A)genuine (B)beam (C)dock (D)status

7. It is thought that Guan has a crush on MJ, but there is not evidence to make Guan
admit it. .
(A)proposed (B)productive (C)sufficient (D)nutritious

8. During the 18" land was cheap, grain was plentiful and meat was . Few people
were died from starvation.
(A)terrifying (B)abundant (C)specialized (D)fertile

9. The White House in its efforts to pass the bill, despite the opposition of the
public.
(A)insists (B)persists (O)resists (D)assists

10. Private laws concerns the rights and obligations of citizens against and towards
one another so that the society can operate with balance.

(A)elegantly (B) virtually (C)primarily (D)financially
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11.Guan caughta ___ of a slightly embarrassed and charming smile from MJ when he

proposed to MJ.
(A)glimpse (B)barrier (C)heritage (D)dam

12. M1 takes full control of her class as if she were a queen and lived in a/an ___ palace.
(A)desperate (B)identical (C)cherished (D)royal

13. Class 203 had planned to throw over the tyrant, but they decided to be docile and obedient
to MM in order to live longer.
(A)however (B)though (Cthus (D)instead
14. New theaters and malls like mushrooms all over the country, which shows the
booming of the economy.

(A)came up with (B) sprang up (Ofigured out (D)took off
15. It is a/an day! We haven’t seen MJ, never been scolded and not even had
homework yet.
(A)absolute (B)spatial (C)glorious (D)artificial

16. Since the economic regression, many companies are shut down, and there is considerable
among the staff about job losses.

(A)anxiety (B)monsoon (C)pace (D)jail
17. Considering what he did, I think the punishment was . After all, his behavior that
he calls her names in the face should not be imitated by others.
(A)luxurious (B)stingy (COmuddy (D)appropriate
18 The trials of the new medicine have been stopped due to signs of side
effects in several patients
(A)innovative (B)significant (C)arched (D)waterproofed
19.We had to take another to school today because the police set up blocks along this
road.
(A)route (B)risk (OC)income (D)project
20. A healthy lifestyle includes having a nutritious diet and good personal
Especially the latter will affect one’s social life.
(A)concept (B)benefit (C)hygiene (D)resources

21.Bangladesh is one of the most ___ to flooding. With the help of boat school program,
the education problem is largely solved.
(A) contagious (B)divine (C)prone (D)resistant
22. In the finals, as soon as the host team kicked the goal and won the championship,
cheered and clapped with excitements.
(A)spectators (B)captains (C)suspects
23. Because he is unable to enter his ideal college, he’s suffering from
thinks of nothing but regrets in his mind.
(A)urgent (B)severe (O)feasible (D)promising
24. Security cameras have been in the city centre so as to make sure that no
criminal evidence can escape from the lens.
(A)passionate (B)innocent (C)installed (D)arched
25. Choose the correct one that has the Different meaning from the other three:
MJ is YY’s best friend. and M.J will share evervthing with her.

(D)authors
depression. He




(A)If YY is not MJ’s best friend, she will not share everything with her.
(B)If MJ were YY’s best friend, she would share everything with her.
(C)Were MJ not YY’s best friend, she would not share everything with her.
(D)If MJ were not YY’s best friend, she would not share everything with her.
26. Choose the sentence whose word “ should” that has the different meaning from the other
three:
(A) It’s queer that Guan should invite MJ to the ceremony.
(B) It is essential that he should have a fair trial.
(C) The residents demanded that there should be an official inquiry.
(D) We move that the meeting should be postponed.
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It’s crucial to promote progress and embrace new things. However, progress does
not necessarily come atthe __ 27 of destroying valuable old objects. For example, in
1959 the Aswan High Dam was constructed, which enabled Egypt 28  the annual
flooding of the Nile. However, to build the dam, an artificial lake was created, one that
_29 _ Egypt’s Abu Simbel temples by devouring them under water. To solve this
problem, officials _ 30 to move the temples to higher ground.

A similar problem was faced by Taiwan’s port city of Kaohsiung in the early
2000s. It needed to build a new railway system, but the old Kaohsiung Railway Station
had to be destroyed to 31 it. Since the station held precious memories for the
locals, it was essential that the building _ 32 to a new location. As these examples
demonstrate, we don’t need to destroy the old to let in the new.

27.(A) loss (B) expense (C) glory (D) urgency
28.(A) to control (B) control (C) controlling (D) controlled
29.(A) relieved (B) spared (C) concluded (D) endangered
30. (A) resolved (B) refused (C) declined (D) trembled
31.(A) figure out (B) rise above (C) make way for (D) base on

32. (A) moves (B) hasto move  (C) be moved (D) will be moved

33--4
In 1922, the English archaeologist Howard Carter found the tomb of King Tutankhamen
(King Tut), who was an ancient Egyptian ruler.

The ancient Egyptians regarded their rulers—the pharaohs—as gods, so they carefully
__ 33 the pharaohs’ bodies after their deaths, and buried the pharaohs’ bodies in fancy
tombs that contained lots of treasure. This custom attracted archaeologists from all over the
world in the nineteenth century. However, many tombs 34 into by robbers and the
treasures that should have been inside were long gone.

Carter believed King Tut’s tomb had never been discovered, and wanted to find it.
Spending years searching for it without any success, he was about to 35, until something
important happened on November 4, 1922. On that day, Carter’s team found steps covered by
trash near the entrance of the tomb. The team followed the steps to a sealed 36 . After
entering the tomb, they were excited to find it 37 _, with the riches inside untouched for

more than 3,000 years. It was the custom at that time in Egypt, when the treasure has been
buried in the tomb to accompany the king on the journey to the afterlife. There were lots of

_ 38, gold, weapons, clothing, etc. So crammed the tomb was that it was extremely
difficult to move these precious valuables. In addition, they also found the pharaoh’s coffin,
which was made of _ 39 gold, and contained the mummified body of King Tut. Then, the
treasures of the King Tut’s tomb were carefully recorded, removed, and included in a
traveling exhibition _ 40 the “Treasures of Tutankhamen.” The Egyptian Museum in Cairo
is now the exhibition’s permanent home.

33. (A) preserved (B) reserved (C) conserved (D) observed

34. (A) broke (B) was broken ~ (C) had been broken (D) had been breaking

35.(A) give up B) dig up (C) stand by (D) pass away
36. (A) arrow (B) chariot (C) hut (D) doorway
37. (A) erect (B) intact (C) open (D) searing
38.(A) tags (B) staircases (C) passages (D) jewels
39.(A)costless (B)worthless (C)priceless (D) valueless
40.(A)to call (B)calling (C)called (D) calls
41—45

Sightseeing has, in fact, increased greatly in popularity asa 41 for the people of
Taiwan. Yet, 42 choose to travel overseas on vacation. The Chinese mainland and
countries in Southeast Asia generally top the list of the 43 areas among Taiwan tourists.

44 contrast, the number of international tourists who come to Taiwan has
declined or remained steady over the past few years. One reason has been the worldwide
economic slowdown. But the lack of investment in creating better tourist facilities here is
another factor.
41.(A)threat (B)pastime (O)level (D)access
42.(A)most of the residents (B)most of residents

(O)the most residents (D)most the residents
43.(A)liked-best (B)liking-best (C)best-liked (D)best-liking
44 .(A)Of (B)From (O)At (D)By
45.(A)no wonder (B)no doubt (C)no good (D)no way
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If the past has taught us anything, it is that every cause brings its effect and every action
has __46_ . This thought, in my opinion, is the moral foundation of the universe; it 47
equally in this world and in the next.

Chinese have a saying, “if a man plants melons, he will reap melons. If he sows beans,
he will reap beans.” And this is 48  of every man’s life: good begets good, and evil
_ 49  evil

True enough, the sun shines in the saint and the sinner 50  , and too often it seems
that the wicked wax and prosper. But we cansay 51 that, with the individual as with

the nation, the flourishing of the wicked is 52, for, unceasingly, life keeps books on us
all.



In the end, we are all the sum total of our action. Character cannot be counterfeited, nor
can it be put on and cast off as if it were _53  to meet the whim of the moment. Like the
makings on wood, which are ingrained in the very heart of the tree, character 54 time
and nurture for growth and development.

Thus also, day by day, we write our own destiny, for inexorably we become what we do.

This, I believe, is the 55 logic and the law of life.

(A)with assertion  (B) true (C) aconsequence (D) gives rise to (E) a garment

(AB) anillusion (AC)requires (AD) applies (AE) supreme (BC) alike

CREEHE: (5H55) F56F60EE4H

The supply of water on this island is often threatened by the shortage of rain. In the
summer, which is usually dry in the south, 56 . Under the circumstances,
conservation is the only way to minimize the chance of a serious draught, 57 and
carry it out with determination and vigor. One way to conserve is to reforest, 58
The loss of waster could be reduced by planting more trees on mountains and hills.

The public must be educated on water conservation. The necessity of economizing
should be stressed in textbooks and propagated through the media. And it is also imperative to
raise the price of water. The current rates here are much lower than n most other countries.
__59__ . Water recycling is another strategy to achieve economy. In this respect we have a
lesson to learn from Japan, where facilities for water recycling are required by law in large
buildings. 60 . It is time for our legislature to pass some sensible water conservation
laws. Unless the public wakes up to the urgent need for conservation, a crisis may be
looming.

(A) The low rates are an incentive to wastefulness.

(B) Trees help retain the water brought by rains.

(C) Drought is likely to occur and make life difficult for the dwellers

(D) The government should map out a better water conservation program
(E) Even the idea of water recycling is foreign to most people here

7 BEMNER reading comprehension : (5244)) 6158~ B —E245

The largest organ in the body is the liver. A healthy liver is reddish brown in color, and
weighs around 1.3 kg. it is divided into four lobes of unequal shapes and sizes. The complex
organ has many functions, including storing energy in the form of glucose, processing
worn-out red blood cells, making bile for digestion, metabolizing medications and alcohol,
and killing germs that enter the body. The liver has a remarkable ability to regenerate itself.
Therefore, even if it shoulders a heavy workload, it rarely complains. Thus don’t ignore signs
of liver injury, such as fatty liver, which may lead to permanent liver damage.

Fatty liver, as its name suggests, is the disease resulting from an excessive amount of fat

in the liver cells. This condition can occur with the use of alcohol or in the absence of alcohol.
Nonalcoholic fatty lover disease is currently the most common liver disease worldwide,
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affecting estimated 10% to 24% of the world’s population. Being obese is by fat the most
critical factor. Besides, fatty liver can occur with poor diet and certain drugs such as
corticosteroids.

Though simple fatty liver usually doesn’t contribute to any harm, it can be associated
with other illnesses, such as scarring and hardening of the liver—very serious conditions.
There are no noticeable symptoms to patients with fatty liver, and furthermore, the liver
doesn’t feel pain. Fatty liver is usually uncovered by ultrasound, computed tomography scan
or biopsy. Therefore, be sure to take regular clinical check-ups or the alternative may be
eventual cirrhosis and the need for a liver transplant
61.What is the main idea of the first passage?

(A)There is only subtle change when the liver gets worse; otherwise, it seems fine and we are
unaware of its change.

(B)Since the liver can renew itself without stop, there is no need to worry about its terminal. .
(C)The liver seldom gets sick unless people drink too much wine.

(D)The liver is an organ that is easy to maintain, so we may rest assured to eat whatever thing
we like.

62. We can infer from the article that

(A)The liver that goes worse results in consuming excess fatty and greasy food.
(B) Fatty liver always has something to do with alcohol.

(C) Four parts of the liver are equally similar in size and weight.

(D)When the liver speaks, it means its damage is beyond cure.

63. Which of the following factors are Not mentioned in causing fatty liver?
(A)People have inadequate nutrition in food.

(B)People take certain medicines.

(C)People take regular check-ups.

(D)People consume excessive amount of wine.

64. Judging from the passage, which of the following methods is unable to detect whether the

liver is fine or not?

(A)A diagnostic imaging procedure that uses a combination of X-ray and computer
technology to produce images of the inside of the body.

(B)To have a surgery that removes the blockage and damaged part of the liver.

(C)A method that is a procedure that uses high-frequency sound waves to create an image of

part of the inside of the body.

(D)The tissue is obtained from the lobe to investigate if there is any signs of damage or

disease.

65—67 FyiE4
Influenza travels exactly as man does. In ox-cart days its progress was slow. In 1918
man could girdle the globe in eight weeks, and that is exactly the time it took influenza to



complete it encirclement of the earth. Today, by clipper planes and air transport, man moves
at higher speed, this modern speed makes influenza’s advent unpredictable from day to day
It all means that our control over this disease must be in proportion swifter.

65. The best title for the passage above is

(A)The world epidemic of influenza took place in 1918

(B)How clipper planes as giant carrier spread influenza.

(C)The uncertainty of the movement of influenza

(D)The impact of speed upon the spread of influenza.

66.The author states that more adequate control of influenza is necessary nowadays because
(A)it may come anywhere on earth.

(B)the germ can run as fast as an airplane.

(C)man is unable to move fast enough to escape it.

(D)man carries it around more rapidly.

67. In this article, which figure of speech is applied to
(A) simile (B)metaphor (C)personification (D)irony
68-71

The recently released report on education by the World Bank could hardly show worse
results for the Philippines. According to the data gathered, 90.9 percent of Filipino children
aged 10 appear to be in a situation of learning poverty, while 90.4 percent are classified as
suffering from learning deprivation. Additionally, 5 percent of Filipino children at that age are
still unschooled. The most important finding is that the worrisome state of Philippine public
education is not a consequence of the exceedingly long closure of schools during the
pandemic — which only made the situation worse — but proof that the learning crisis comes
from at least two decades of mismanagement. The conclusions of the report highlight that
without urgent action, the countries affected face learning and human capital catastrophe and
the future of those children may be at risk. The report states that "there is a narrow window to
act decisively to recover and accelerate learning” and "this will require firm political
commitment and implementation of evidence-based approaches for rapid impact." The bad
news for the Philippines is that the process of making decisions on national education policies
is not in the hands of teachers or experts in education, but would depend on politicians.

Since I have been teaching in the Philippines for a decade or so, I have a few
observations to do with the matter. The most important one deals with the content of teaching
units. A rough review of school handbooks shows that what Filipino children learn in school
is substantially less (in terms of quantity) than children of the same age in Europe (I know the
examples of Spain, Italy and especially, Poland). The extension of the period of education
with the implementation of Kindergarten to 12 did not mean more content, but just
distributing the same content for more years. The immediate consequence is that many enter
the university without having basic knowledge.
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68. What is the main idea of the article?

(A)To manifest how poor one of the southern Asian country is.
(B)To illustrate a serious problem happening in the Philippines
(C)To emphasize how corrupt the Philippines’s government.
(D)To provide a practical solution to schooling issue.

69. What is the correct organization in the passage?
(A)figures—>issue >reason—>opinion—=>problem
(B)statistics=> opinion->reason—> problem->solution
(C)opinion—>statistics >reason ->comparison—>problem
(D) figures—>reason->opinion ->problem-> solution

70.According to the passage, what is Not the reason that leads to children education
deprivation in Philippines?

(A)the shutdown of schools during the pandemic

(B)the wrong policies as to schooling arrangement

(C)the dominance of learning belongs to nonteaching staff

(D)the teaching content is too challenging for children to learn.

71. What can we infer from the article?

(A)The lengthy of receiving education does always guarantee the quality of learning.

(B)The author is not a local and has white-centered ego since he compares Asians education
to the Westerns.

(C)The speaker inhabits Philippines for roughly a year and is a instructor.

(D)The solution to poor Southern Asian countries is to consult the education of Western

countries.

71—73F % EH : core competency

Rose came to her father with her head downcast and had a long face. “Papa,” she said,
“you know that rich Mr. Right? well, he betrayed me and I am going to have a baby.”

“My God,” said the father, “where is he? I’ll kill him! Give him the message. I will
murder him.” Dashing to the rich man’s home, he cornered him and in a loud voice he told
him what he intended to do. But the rich Mr. Right was quite calm.

“Easy! Easy! Don’t get so irritated!” he said, “I’m not running away, and I am willing
to do right by your daughter. If she has a boy, she gets fifty thousand dollars. If it is a girl, she
gets thirty-five thousand dollars. Is that fair? ”

The father halted while the look of anger on his face changed. “”And if it is
miscarriage,” he pleaded, “will you give her another chance?”

71. This is a coined story of

(A) an ill-tempered father, a depressed daughter and a stingy Mr. Right.
(B) a pregnant daughter, a greedy father, and a wealthy Mr. Right.

(C) a romantic daughter, a well-to-do father, and an indifferent Mr. Right.
(D) a betrayed daughter, a cornered father, and a proud Mr. Right.



72. Rose’s father thought that Mr. Right’s offer is .
(A)irresistible (B)imaginable (C)unreasonable (D)available

73. Which sentence cited from the passage can exactly pinpoint the gender inequality ? (357)

IL. translation: 14%

1. REEHE H HEREFTRIE—R 3%

2AEGEENER  AAME—EATE - 3%
3T R S BRI 3% :

4 NEF BMTSEEMERNSE - BRMATUAZBERS/INE - 3%
5. FEHIRAEN  BEOER 2%

5/



ERAZGTS 1 SEFE 228 B AXAREE (F2) &8 121
B P 3 X Book VIesson123+3.5 R aifrA  #FHBAIKX:33 @pKE: (1
HE~2 32)01 (3 32)02 REHLET © BT &
F—Ey FEEE 4% 1—~60: EE145/ 61 E-TNE: 5EH2S 24%
3 RTRER 2%
A XKEENEEFE choose the BEST answer

BEy JREE BE RTREE 2% TEE%  FREERREEES

L A (2 C [3V) [4 5 %
6. O 7. ¢ |8 (> |9 ¢y [10.C
L [y [12.y) |13 Q 4., |15 —
6. [\ [17.) |18 9. 7 [20. C
2. C |22 p |28 pﬁj 4.~ |25 [%
26. p\ (271, [28. 1) [29. 1) |30. A
3. [32.C [3B N [/~ |5 A
3. UV [37. 15, [38. () |39. C |40. (
. 5 (42, /(48 o |4 (4513
6. C (4T A D[ 5 [0 [S0pC
51 [N |52 AL [3- £ |54 A\C|5 IE
6. [5T.07 |8 [ |9 A |60
61. 7\ [62. 7 |63. . |64 [5 |65
66. ()67 A |68 p [69. [ [70. O
T 72 g | "
=

73. If she has a boy, she gets fifty thousand dollars. If it is a girl, she gets thirty-five thousand dollars.

ﬁanslaﬁon:

1. I'm a slow walker, but I never walk backwards. — Abraham Lincoln 3
BEER B HERTAIE—E
2EMBEENER - FAME—HATE -
Life is either a daring adventure or nothing at all.” —Helen Keller © 3
3. R RIEARR PG R GEIRERA
What doesn't kill me makes me stronger.--. Friedrich Nietzsche 3
4. Inlife, we may not do great things, but we can do small things with great love. — 3
Mother Teresa
NEF HMTSEABERNE - BERFATUAEBES /NS -
5. RETHRFEEL - BE OB
Stay Hungry. Stay Foolish ° 2



